
КРАТКОЕ РУКОВОДСТВО ПО УСТАНОВКЕ

Компоненты

КРОНШТЕЙН 
P-STAND

1 ЛЕВАЯ 
ПЕРЕДНЯЯ НОЖКА 
СТОЙКИ P-STAND

2 ПРАВАЯ 
ПЕРЕДНЯЯ НОЖКА 
СТОЙКИ P-STAND

3 ЗАДНЯЯ 
НОЖКА 
СТОЙКИ 
P-STAND

ЦЕНТРАЛЬНЫЙ 
ЭЛЕМЕНТ СТОЙКИ 

P-STAND

ВЕРХНЯЯ КРЫШКА 
СТОЙКИ

НИЖНЯЯ ПЕРЕДНЯЯ 
СКОБА СТОЙКИ x 2

НИЖНИЙ 
ПРАВЫЙ 

КРОНШТЕЙН

НИЖНИЙ 
ЛЕВЫЙ 

КРОНШТЕЙН

 Винты
(M4 x L12)

 Винты
(M4 x L16)

 Винты
(M4 x L8)

1

1

1

1 2

4

3

5

2

2

2

3

3

3

Q9F 65″, Винты: M4 x L8

5-A

1

3

2

4

Q7F 55″/65″, Винты: M4 x L16

5-B Q7C 55″/65″, Q8C 65″, Винты: M4 x L16

Q8C 55″, Винты: M4 x L16

 M4 x L12

1

2

3

 M4 x L12

 
M4 x L16

 M4 x L8

5-C

5-D

M4 x L12

 
M4 x L16

 
M4 x L16



LS003 55″/65″, Винты: M4 x L16

7-B

7-A

6-A

5-E

6-B

2017

Телевизор
Soundbar

Модель Дюймы

Q9F 65" MS770/MS760/MS750

MS6500/MS6510

MS660/MS650

MS57C/MS560/MS550

Q8C

Q7C

Q7F

65", 55"

The Frame (LS003) 65", 55" -

 M4 x L8

1

1 2

3 4

1

1

1

5

2

6

3

3 4

7

2

M4 x L8

Q7F 55″/ 65″, Q7C 55″/ 65″, Q8C 55″/ 65″, LS003 55″/65″

Q7F, Q7C, Q8C, Q9F, LS003

Q7F, Q7C, Q8C, Q9F

Q9F 65″

M4 x L8

2 2

SWA-9000S Компоненты

W
IRELESS

Адаптер 
беспроводной связи

(WHM520V)

Держатель ключа
(Настенное крепление / 
одиночное крепление)

ВИНТ x 1
(M3XL6)

M4 x L8
M3 x L6

M3 x L6

 
M4 x L16

•	 HW-MS7XX
 �→ L + Держатель ключа

•	 �HW-MS5XX, MS6XX, 
MS65XX
 → R + Держатель ключа


